Exam 1 Guide




Outline

e Class Average: 83 (59 to 102)
e Grades visible on Automatic Adjudicator
e A curve will be applied later

e Think carefully before asking for a regrade
- We will look carefully at your answer!

e Not wasting our time: 3/10

#2



Question 1

e Terminals: -1, Epsilon -3, Recursion -3,
Correctness -2, Expression to #t/#f only -2




Question 2

e Something about #t/#f vs. all values: -5
e Vague right idea, w/o example: -2
e Reversed: -1




Question 2

e Another phrasing:




Question 3

« (=low high) : -2, low as base result : -1, if in recursive case : -2,
recursive call : -3, infinite loop: -3, non-linear time: -2,
explanation: -1




Question 4

e lambda: -5, (x): -2, (+ xn) : -3

(define (make-incrementer n)
(lambda (X) (+ X n))

#7



Question 5

e loosely -2 per wrong element




Question 5

e This one is not Theta(n), but is still full credit.
Also: sort and take the car.




Question 6

e 1 point per
correct yes/no

e 1 point per
correct
explanation

o weak overall:
-1 or -2

e Gotcha: n0 >=
1 for Part 3




Question /

e base case conditional: -2, base case result: -1, plus to

combine results in recursive step: -2, use of eq? : -1,
recursive call: -3, correct use of car/cdr: -1, other

errors: -1




Question /

o Another writeup:




Question 8

e base case conditional: -2, base case result: -1, use of

pick-better or similar: -1, count-matches: -2,
recursive call: -2, describe code without writing it: up
to -3, did not “go both ways”: -1







Question 9

icht answer: -5, rigsht explanation: -5



